
Answer on Question #85671 – Math – Algebra 

Question 

Resolve (6x-1)/((x-3) (x+1)) into partial fractions  

 

Solution 

Let   
6𝑥−1

(𝑥−3)(𝑥+1)
=

𝐴

𝑥−3
+

𝐵

𝑥+1
 |𝐴, 𝐵 ∈ ℝ 

Then: 

𝐴

𝑥 − 3
+

𝐵

𝑥 + 1
=

(𝐴 + 𝐵)𝑥 + (𝐴 − 3𝐵)

(𝑥 − 3)(𝑥 + 1)
=

6𝑥 − 1

(𝑥 − 3)(𝑥 + 1)
⟺ 

⟺ {
𝐴 + 𝐵 = 6

𝐴 − 3𝐵 =  −1
⇔ {

𝐴 = 4.25
𝐵 = 1.75

⇔
6𝑥−1

(𝑥−3)(𝑥+1)
=  

4.25

𝑥−3
+

1.75

𝑥+1
                                                      

Answer:  
6𝑥−1

(𝑥−3)(𝑥+1)
=

4.25

𝑥−3
+

1.75

𝑥+1
. 
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